Section—C 2x10=20
(Long Answer Type Questions)

Note .— Answer any two questions. Each question carries

10 marks.
10. Define conjunction with its various kinds.
11. Describe the kinds of conditional sentences.
12. Differentiate clause and phrase.

13. What is verb ? Explain kinds of verbs.
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Note -— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.

Section-A 10x1=10
(Very Short Answer Type Questions)

Note — Answer all questions. As per the nature of the

question delimit your answer in one word, one

sentence or definitional type. Each question carries

1 mark.
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1. i) I will have completed my task ............

Friday. (till/by)
(i1) There’s a rift ......... these two kids.
(between/among)
(iii) The soldiers are ........ war. (in/at)
(iv) The opponents sat ............. to each other.
(opposite/behind)
(v) One ......... repay all their debts.

(must/ought to)

vi) ...... you show me the road to the market ?

(Could/Might)

(vii) The child ........ be taken to hospital

immediately. (must/might)

(viil) ........ you have hot chocolate ? (Shall/Will)
(ix) The scientist looked ....... the microscope.

(through/in)

(x) I met Sohan when I was ..... college. (in/on)
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Section-B 4x5=20
(Short Answer Type Questions)

Note -— Answer any four questions. Each question carries

5 marks.

. What is vocative case noun ? Give an example.

. Form sentences using these conjunctions :

or and then, not only.......... but also, so that

. Write down 5 sentences using subjective

complements.

. Exemplify the usages of ‘need’ and ‘dare’.
. Provide examples of various types of Past tenses.

. Point out the general rules of converting a simple

sentence from active voice to passive voice

. Interchange this sentence in other degrees of

comparison :

Gagan is better than Govind.

. Combine these sentences in three different ways :

(a) It is very much late

(b) We connot attend the meeting
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